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1.2 
Rational Exponents

McGraw-Hill Ryerson: MATHEMATICS 11, pp. 11–18

Exponent Laws

· 
[image: image1.wmf]1

n

n

aa

=

, where n is a natural number. If n is even, then a ( 0. If n is odd, then a can be any real number.
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, where m and n are natural numbers.


1.  Write using exponents.

a)  
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2.  Evaluate exactly.

a)  
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3.  Write a simplified equivalent expression using exponents.

a)  
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4.  Use a calculator to evaluate each expression to 2 decimal places.

a)  
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5.  Ship building The design of a new icebreaker requires the ship to be 75 m long and travel at 4 m/s. The model of the ship can be represented by the formula 
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, where S is the speed in metres per second, L is the length in metres, M represents the model, and R represents the real ship. Engineers planning the ship have created a model 0.15 m long. Use the formula to calculate the speed of the test model. 

6.  Sky diving A sky diver jumps from a small plane. The velocity of the diver is given by the equation 
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, where v is the velocity in metres per second, t is the time in seconds, and 

e = 2.718.

a)  Find the initial velocity of the skydiver.

b)  Find the velocity of the skydiver after 15 s.
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